BT TRIA O - HEHHEE X T EFEJ'ZiGEwH KIRHE
- I:I - 3 I:I
BT T2 | MR T8 T = BT T2 | MR8 T =%
HRX 37,887 87,225 41,690 45535
RIRET1T 4 12 6 6
RIRET2T 24 53 25 28
RIRET3T 153 486 245 241
RIRET4T 384 989 484 505
B 565 1,540 760 780
REH 2,638 6,251 2,927 3,324
L&A 4,183 9,622 4577 5,045
5E 2,494 6,027 2,911 3,116
B AN 1,231 2,835 1,336 1,499
BERT 1,112 1,800 854 946
BER2T 726 1,423 674 749
BHERST 391 904 452 452
g 2,229 4,127 1,980 2,147
BARE 249 648 326 322
= 2,188 5,297 2,495 2,802
hERE 602 1,437 654 783
e 2,357 5,241 2,524 2,717
25 L ET 2,257 5,286 2,531 2,755
B &AL BT 68 152 61 91
HEFILET1T 585 1,299 614 685
HEFILET2T 590 1,351 637 714
HEZFILAT3T 572 1,359 662 697
g 1,815 4,161 1,974 2,187
B & it B Fr ET 674 1,655 809 846
BHEREBET1T 593 1,242 592 650
BHERERET2T 751 1,786 870 916
BHERERETST 769 1,675 759 916
HEFMHET4T 456 1,014 496 518
HEHFMHETST 794 1,659 795 864
HEHFHET6T 861 2,024 973 1,051
HEFRET7T 840 1,962 949 1,013
HERERETST 56 170 79 91
£t| 5120 11532 5,513 6,019
HEF R FET 1,791 3,939 1,921 2,018
S|EFET1T 564 1,528 760 768
S|EFET2T 758 1,829 875 954
S|EFET3 T 735 1,494 711 783
g 2,057 4,851 2,346 2,505
ERE1T 556 1,359 658 701
EIRET2T 362 919 455 464
EREIST 462 1,330 646 684
EIRETAT 675 1,556 722 834
EIZEIST 472 976 492 484
g 2,527 6,140 2,973 3,167
MEH 2,804 6,416 3,031 3,385
J\THET1T 25 28 9 19
J\THET2T 24 62 31 31
J\THEI3T 57 130 62 68
B 106 220 102 118
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